EARAZROREIERT — 2 N—XBISY —F 201583848 (k) 21[@%#A2H

mﬂﬁ%Sﬁ&%ﬂ 3 Y% 3% ‘ %] & ‘ [eErsm]  — | 4 (A) 14000 RE
[A&4)]1#%:180,000H ~ 2#%&:36,00MH ~ 3#&:18,000H / 4%:0M / 5&%:0H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
So e KR :30. -1-1- . — LHEE (1)
118l £ ZINL R % 3 54_10 1(3_0)7 1-1-1-1 | 40.6 2 ;1_531) %Eﬁ‘ﬁ%# A
I Y rFr BIYEA Y- 2% 2
. 4 3 | EEEE 1:30.8 5-3-3-3 |40.4| — 6 434 | HEEFIEE] (55H)
2|8|8|FxU-—¥Mr0> 5.0 (172) oy | B 721577
L:FzV-U59> B:FU-—T—IFK TS
. . BB : 00— - REEE— (5542)
31111 [ v=TnTx 12 i 3 A 1(.33/%9 2-2-2-2 | 40.6 3 (4_256) i A
L BATATv— B/ =T T17— BINET 7 — LI
. 4 3 | FEEREH 1:31.2 8-7-6-4 |40.6 | — 7 429 | ETEEAN (BEHE)
4)5|5| ¥/ /54 5.0 (1 172) © | 77-2hEvar
LNAT =5 =L B:¥xFLN— R TR BR
ST 5 43 | WLEES 1:31.3 4-5-5-6 | 40.7| — 4 485 | NIIER (BEE)
sl 6| HITATITAY 56.0 (1/2) -2) HIH?J?%
L:7L>FFE2T71 BIT7TFTa— ks
P SH— o € 4 3 | AUE— 1:31.5 9-8-8-7 |40.4| — 5 496 | FIUEE (BHE)
el 4| NFELY TR 56.0 (1 1/2) 8) FFLE A
RNAT ==L B4R T4T7—L SR T T — L
X . ETEA . 67— _ HELEHE (E1)
R RIS A AR I R S lhEae
R:jr—3I)7> BNRZ—-L—> FHE
o e # 3 | EHKRE 1:32.0 3-4-4-4 |41.6| — 1 478 | HEEBE (1)
N . B 5.0 (o oy | B BRI
R LTAN— BEY /I & =X
L= 4 3 | WTHZ 1:32.6 7-9-9-9 | 41.1| — 9 394 | EFEF (F1R)
of Y3 F-t>71v7Y %53.0 3 ay | @ 3702177
LA LINT Ry IR BFPEUT Y WHE =
® I—F—@EBIERL
13—7F— 9,1,2,6,8,7,3,5,4
20—7— 9,1,8,2,6,7,5,4,3
T =35r= 9,1,8,2,6,5,7,4,3
40 —F— 9,1,8,(2,5),6,4,7,3
[ RN
B 9 260/ 794K 8-9 550 & 8-8 2,050 &R 1-8-9 2,210
# B 9 180 1-9 240 B E 8-9 2,340 EE 9-8-1 11,590
8 340H 1-8 660M B H 9-8 3,120M
1 160/

ABICOVWTRDTEEERROODE. TR LIV,



